
Some Examples

Ex: Any collection 0, v1, v2, ..., vk that has the zero vector as a member is
linearly dependent, i.e. here is an example of a non-trivial solution for the
ci ’s:

5× 0︸︷︷︸
zero vector

+ 0︸︷︷︸
scalar

× v1 + 0︸︷︷︸
scalar

× v2 + · · ·+ 0︸︷︷︸
scalar

× vk = 0︸︷︷︸
zero vector

Ex: The columns of the identity matrix are linearly independent:

0 = c1e1 + c2e2 + · · ·+ cnen =
[
e1 · · · ek

]
c = Ic = c

Ex: The matrix A from the start of this Part:

c1

 1
2
−1

+ c2

 3
6
−3

+ c3

 3
9
3

+ c4

 2
7
4

 =

 0
0
0


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